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1,621 648 04
L=1,336m H16 H20 H16 H20 892 892 892 892
L=310m H16 H16 H16 H16 17 17 17 17
L=670m H16 H19 H16 H19 50 50 50 50
A=13,000 H16 H20 H16 H20 34 34 34 34
A=2,500 H16 H17 H16 H17 40 40 40 40
H16 H20 H16 H20 192 192 192 192
H16 H19 H16 H20 74 74 74 74
A=1,125 H18 H20 H18 H20 278 278 278 278
1577 1577 1577 0 1577...
H19 H20 H19 H20 42 42 42 42
H16 H17 H16 H17 2 2 2 2
44 44 44 0
(A+B) 1,621
o

40ha S H13 H19 2,229

o H14 H16 104

L=320m S H14 H17 225

A=30 ) H16 H17 0

A=491 S H18 H20 146

L=930m o H17 H17 0

2,704
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